Aims of the Year

As the forth proposed executive committee of the Society of Earth Sciences, we aim at creating our own traditions and keeping them for the future. We hope to strengthen the sense of belonging among our Members towards the Society.

- To strengthen the relationship among a umnī and members
- To act as a bridge between Society members and the Department
- To arouse members' and public interest in Earth Sciences

Introduction of the Proposed 4th Executive Committee Members



Proposed President Cheung Chin Ho, Eric 張展豪 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed Internal Vice-President Law Chun Hel, James 羅進熙 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed External Vice-President Chiu Man Hei, Arthur 趙文熙 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed General Secretary Law Yuk YI, Joyce 羅玉賢 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed Financial Secretary Li Tsz Ying, Janet 李芷瑩 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed Academic Secretary Wong Yu Ching, Angle 黃倫晴 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed Marketing and Welfare Secretary Ho Cheuk Wing, Samantha 何卓穎 Bachelor of Science (Year 2) Intended Major: Earth Sciences and Environmental Science



Proposed Social Secretary Chu Chun Yip, Andrew 朱俊業 Bachelor of Science (Year 1) Intended Major: Earth Sciences



Proposed Publication and Publicity Secretary Hui Ming 許銘 Bachelor of Science (Year 1) Intended Major: Earth Sciences

Timetable of Activities in Session 2012-2013

Date	Function	PIC
Feb 2012	Career Talk	Wong Yu Ching, Angle (Proposed Academic Secretary)
Mar 2012	Welfare Day I	Ho Cheuk Wing, Samantha (Proposed Marketing and Welfare Secretary)
	Science Festival	Chlu Man Hei, Arthur (Proposed External Vice-president) Li Tsz Ying, Janet (Proposed Financial Secretary)
Apr 2012	Super-pass Dinner I	Chu Chun Yip, Andrew (Proposed Social Secretary)
Jun 2012	Dinner Gathering I	Li Tsz Ying, Janet (Proposed Financial Secretary)
	Field Trip - Geological Park	Wong Yu Ching, Angle (Proposed Academic Secretary)
Jul 2012	Adventure Day Night Walk with Lung Chan 與龍同行	Chu Chun Yip, Andrew (Proposed Social Secretary)
Aug 2012	Registration Period I &II	Law Yuk Yin, Joyce (Proposed General Secretary) Hul Ming (Proposed Publication and Publicity Secretary)
	Orientation Day	Law Chun Hel, James (Proposed Internal Vice-president) Chu Chun Ylp, Andrew (Proposed Social Secretary)
Sept 2012	Orientation Camp	Law Chun Hel, James (Proposed Internal Vice-president) Chu Chun Yip, Andrew (Proposed Social Secretary)
	Welfare Day II	Ho Cheuk Wing, Samantha (Proposed Marketing and Welfare Secretary)

Nov 2012	Super-pass Dinner II	Chu Chun Yip, Andrew (Proposed Social Secretary)
Dec 2012	Dinner Gathering II	Law Yuk Yin, Joyce (Proposed General Secretary)
	New Year Ball Game	Chu Chun Yip, Andrew (Proposed Social Secretary)

Career Talk

Date of Programme: 7th - 9th February 2012

Time of Programme: 18:00-20:00

Venue of Programme: HKU James Lee Building Room 105

Target group:

Mainly all Earth Sciences students but open to the public

Person-In-charge: Wong

Wong Yu Ching, Angle

(Proposed Academic Secretary)

Objective(s)

To introduce the nature of working at different companies and its recruitment to Earth Sciences students

Description

A representative from different companies will give a presentation about the future career prospect and shares his/her experiences.

Organizing Information

Expected No. of Participants: 30

Proposed Function Details

Component

- Presentation
- Refreshment
- 0 Q&A

Promotion

- Sending mass e-mall
- Having class announcement
- Promoting in Facebook

Preparation Schedule

Date	Event	
Early February	Promotion	
Day before the function	Preparing refreshment	

Science Festival

Date of Programme:

20th-22nd March, 2012

Time of Programme:

12:30-18:00

Venue of Programme:

Run Run Shaw Podium

Theme of Programme:

Beauty of Science

Target group:

University students and Secondary school

students

Person-in-charge:

Chiu Man Hei, Arthur

(Proposed External Vice-president)

Li Tsz Ying, Janet

(Proposed Financial Secretary)

Objective(s)

- To introduce the 4 spheres(atmosphere, hydrosphere, geosphere and biosphere) of the earth
- To acknowledge the public about the importance of the interaction of the 4 spheres
- To raise the awareness of problems that the earth and human facing nowadays
- To arouse the interests in studying Earth Sciences among secondary school students

Description

Science Festival is an activity organized by the Science Society to promote science among students and public.

Organizing Information

Expected No. of Participants: 20 per day

Expected No. of Helpers: 3-4

Budget: \$ 450 subsidized by Science Society

Topic: Beauty of Earth

Helpers

Target: Undergraduate students

Proposed Recruitment Period: Early March

Proposed Recruitment Means: Face-to-face invitation

Proposed Function Details

Components

- Bulletin boards in booth
- Video and documentary about the earth in booth
- Museum tour

Promotion

Promotion done by Science Society

Preparation

- Bulletin boards
- Video and documentary
- Helper recruitment

Preparation Schedule

Date	Event
Early March	Booth decoration planning Helper recruitment
Mid-March	Purchasing materials Making bulletin boards
Days before function	Setting up the booth

Field Trip – Geological Park

Date of Programme:

Early June

Time of Programme: Venue of Programme:

10:00-17:00 High Island

Target Group:

All HKU students

(Priority given to the Society Members)

Person-in-charge:

Wong Yu Ching, Angie

(Proposed Academic Secretary)

Objective(s)

- To foster internal coherence between the Society Members and other HKU students
- To deepen Members' understanding in Hong Kong Geology

Description

Field trip will be a chance for students to study the special geological features in Hong Kong.

Organizing Information

Expected No. of Participants: 30

Proposed Function Details

Message to be delivered

After the field trip, it is hoped that participants can have more understanding of the geology of Hong Kong and develop their interest in the field of Earth Sciences. Moreover, it is helped that the relationship of Society members can be fostered.

Components

- Sight-seeing
- Hiking

Promotion

- Sending mass e-mail
- Putting up posters
- Having class announcement
- Promotion in Facebook

Preparation Schedule

1.196-1.2012	
Date	Event
Early or Mid April	Promotion
Late May	Pre-trip

Adventure Day -Night Walk with Lung Chan 與龍同行

Date of programme:

Early July

Time of programme:

21:00 -06:00

Venue of programme:

Tai Long Wan

Target group: Person-in-charge: All Society Members and teaching staff from the DES Chu Chun Yip, Andrew

(Proposed Social Secretary)

Objectives(s)

• To have fun with our members and teachers

To strengthen relationships between our department professors and students

Description

Adventure Day is a gathering for our members and teaching staff to have fun outside the campus. Invitation to our department teaching staff will be sent one month in advance. Professor Chan Lung Sang is invited to attend this event.

Organizing Information

Expected No. of participants: 30

Proposed Function Details

Components

- Night walking
- Enjoy sun rise

<u>Promotion</u>

- Sending the mass e-mail
- Class announcement
- Promoting in Facebook

Date	Event
Late April	Class announcement
Early June	Confirmation of the venue and activities
Early June	Promotion
One week before the function	Reminding participants and pre-trip

Registration Period I & II

Date of Programme:

Late July and August 2012

Duration of Programme:

4 days

Venue of Programme: Target group:

All freshmen

Person-in-charge:

Law Yuk Yin, Joyce

(Proposed General Secretary)

Hul Ming

(Proposed Publication and Publicity Secretary)

Objective(s)

- To introduce Earth Sciences and raise freshmen's interest in this curriculum
- To respond to queries of the subjects and the University matters
- To recruit new members for the Society
- To encourage freshmen to Join the Orientation Camp

Descriptions

Registration Day is a day for freshmen who are interested in Earth Sciences to apply for membership and participate in orientation events. General information about the Society and Department of Earth Sciences will be provided to them.

Organization Information

Expected No. of Helpers: 4-5

Helpers

- Target: Undergraduates and postgraduates
- Proposed Recrultment Period: April
- Proposed Recruitment Means: In-person invitation, sign-up forms

Proposed Functions Details

Message to be delivered

We aim at introducing Earth Sciences to freshmen so as to deepen their understanding of the academic discipline. Leaflets from the department will be distributed and photos of field trips will be exhibited. We hope to attract freshmen to join our Orientation Camp and choose Earth Sciences as their Major or Minor.

Components

- Booth
- Souvenirs (files and society paper from department)
- Orientation Camp leaflets

Promotion

- Banner
- Posters

Date	Events
Late July	Decoration planning
2 weeks before the on day	Poster printing and materials purchasing
On day	Booth set-up

Orientation Day & Orientation Camp

Date of Programme:

31st August, 2012 (Orientation Day)

4th-6th September, 2012 (Orientation Camp)

Duration of Programme:

4 days

Venue of Programme:

HKU campus (Orientation Day)

Pak Tam Chung Holiday Camp (Orientation Camp)

Person-in-charge:

Law Chun Hei, James

(Proposed Internal Vice-president)

Chu Chun Yip, Andrew (Proposed social secretary)

Objective(s)

To help freshmen develop friendship with each other

To let freshmen know more about materials on Earth

To increase the popularity of Earth Sciences

To increase freshmen's problem-solving abilities

Description

Orientation Day & Orientation Camp is one of the important events in this year for both freshmen studying 3-year curriculum and 4-year curriculum. By doing some group activities, participants can learn how to solve problems and hence increase their problem-solving skills. Besides, participants can develop their friendship through this 3-day overnight camp. This event can also help freshmen who are interested in the major of Earth Sciences learn more about Earth Sciences such as the 4 spheres on the Earth.

Organizing Information

Expected No. of Participants: 30 freshmen

Expected No. of Helpers: 10 student helpers (major in Earth Sciences)

Charge: Participants: \$ 330 approx. Charge: Helpers: \$300 approx.

Helpers

Target: Mainly undergraduates, supported by postgraduates

Proposed Recruitment Period: March - July

Proposed Recruitment Means: In-person Invitation, sign-up forms

Proposed Function Details

Message to be delivered

We hope that after joining this orientation series, participants can learn more about Earth Sciences and we can give them a brief description of 4 spheres on the Earth. Besides, we hope this activity can help to strengthen the social linkages between freshmen.

Components

Orientation Day:

- Ice-breaking games
- Museum tour and Campus tour

Orientation Camp:

- HKO
- Mass games
- Rock climbing
- BBQ and Night walk
- Detective Game
- Hiking and rock study
- Boating (if possible)

Promotion

Distribution of leaflets on Registration Days and Faculty's Induction Days (600 pieces of A6 leaflets and 10 pieces of A3 size poster for booth decoration)

Date	Event
Early January	Holiday Camp booking
March – July	Helpers recruitment and Finding sponsorship
Mid June	Pre-tour and Pre-camp
Late June	Pre-camp and Camp Tee polling
Late July	Poster Printing, Camp Tee ordering, Helpers Briefing
30 th July – 1 st August	Promotion during Registration Day (3-year curriculum)
2 nd August	Promotion during Induction Day (3-year curriculum)
20 th – 22 nd August	Promotion during Registration Day (4-year curriculum)
23 rd August	Promotion during Induction Day (4-year curriculum)
A week before	Games Preparation, Helpers Briefing
2 days before	Calling to Participants to remind them things to bring
An hour before	Final checking, Helpers briefing

Super-pass Dinners

Date of Programme:

Late April 2012 and Late November 2012

Time of Programme:

1830-2100

Venue of Programme:

JL 104 or restaurants in Western District

Target group:

All Society Members

Person-in-charge:

Chu Chun Yip, Andrew

(Proposed Social Secretary)

Objectives(s)

- To provide members a chance to relax before examination
- To strengthen relationships among members
- To bless our members to have good examination results

Description

Super-pass Dinner is a gathering for undergraduates before the examinations, providing them a time to relax and wishing for good exam result. It is also a gathering for ESS members. The mass games can let members different years and classes to get closer to each other and build up friendships.

Organizing Information

Expected No. of participants: 30 Proposed charge: \$50 approx

Proposed Function Details

Components

- Writing super-pass red paper
- Distributing the \$1.3 red pocket
- Mass games
- Photo taking
- Dinner

Promotion

- Sending the mass e-mail
- Putting up posters
- Having class announcement
- Promoting in Facebook

Date	Event
Late March and Late October	Confirmation of the venue and activities
Early April and Early November	Promotion
Days before the function	Preparation of materials such as red paper, ink .etc

Dinner gatherings

Date of programme:

Tea gathering 1: Early June 2012

Tea gathering 2: Late December 2012

Time of programme:

TBA

Venue of programme:

JL104

Target group:

Alumni and all society members

Person-in-charge:

Li Tsz Ying, Janet

(Proposed Financial Secretary)

Law Yuk Yi, Joyce

(Proposed General Secretary)

Objective(s)

To foster coherence between alumni and undergraduates

- To allow students to explore the future career aspects through chit chatting with alumni
- To act as a farewell party for the Year 3 members

Description

Dinner gathering is a time for undergraduates to know more about the career aspects after graduation in Earth Sciences from alumni under a relaxing atmosphere.

Organizing Information

Expected No. of participants: 30 Charge for members: \$ 20 each

Proposed Function Details

Components

- Refreshment/Dinner
- Photo taking

Promotion

- Sending the mass e-mail
- Having class announcement
- Promoting in Facebook

Preparation

- Inviting alumni
- Preparing refreshment/ dinner

Date	Event
Late April and November	Sending invitations to alumni and confirming that date for the event
Mid May and Early December	Promotion
Days before the function	Preparation of refreshment

New Year Ball Game

Date of Programme: Late December 2012

Time of Programme: 18:00 - 22:30

Venue of Programme: Flora Ho Sport Centre

Target group: All society members
Person-in-charge: Chu Chun Yip, Andrey

Person-in-charge: Chu Chun Yip, Andrew (Proposed Social Secretary)

Objective(s)

To release stress after exam

To foster coherence between freshmen and other members

Description

New Year Ball Game is a gathering for undergraduates before the examinations, providing them a time to relax and wishing for good exam result. It is also a gathering for ESS members. The mass games can let members different years and classes to get closer to each other and build up friendships.

Organizing Information

Expected No. of participants: 30

Proposed Function Details

Components

- Proposed badminton games
- Drinks
- Prizes
- Photo taking
- Dinner

Promotion

- Sending the mass e-mail
- Putting up posters
- Having class announcement
- Promoting in Facebook

Date	Event
Late October	Confirmation of the venue and activities, site booking
Early November	Promotion
Days before the function	Preparation of materials such as balls, prizes, drinks .etc

Welfare for the Society Members

General Welfare

Person-in-charge: Ho Cheuk Wing, Samantha

(Proposed Marketing and Welfare Secretary)

Objective(s)

- To enhance members' sense of belonging
- To provide products at a reasonable price for members

Description

General welfares will be provided to the Members in order to give the most benefits to them, and enhance the relationship between the Society and the Members. It aims at promoting the well-being and interests of the Members.

<u>Items</u>

Society Products

Proposed items:

- Society T-shirt (x100)
- Society jacket (x40)
- Field book (x50)
- Hand lens (x30)

Proposed price:

- Society T-shirt: Members \$35; Non-members \$55
- Society jacket: Members \$90; Non-members \$110
- Field book: Members \$ 8; Non-members \$15
- Hand lens: Members \$20; Non-members \$35

Publishing Date: Early March and Late September

Date	Event	
Mid February	Circulation and polling of designs in class and through internet Design of Society membership card will be ready Place order for Society T-shirts, Field books, Hand lens	
Late February	Collection of society products and membership cards	
Early March	Promotion of Welfare Day I	
Mid July	Circulation and polling of designs in class and through Internet Place order for Society jacket	
Late August	Collection of Society Jacket	
Early September	Promotion of Welfare Day II	

Welfare Days

Date of Programme: Welfare Day 1: Early March 2012

Welfare Day 2: Mid September 2012

Time of Programme: TBA

Proposed Venue of Programme: Near the main entrance of James Lee Science

Building

Target group:

All society members

Person-in-charge:

Ho Cheuk Wing, Samantha

(Proposed Marketing and Welfare Secretary)

Objective(s)

To provide general welfare to the members

To give chances for members to purchase the society products

To strengthen the sense of belonging to the society by society products

Description

Welfare Days will be provided to the members in order to give the most benefits to them, and enhance the relationship between the society and member. It aims at selling inventories with discounts (e.g. Orientation camp T-shirt, society T-shirt, society jacket and paper) and new products to the members.

Proposed Function Details

Components

- New society membership card distribution
- New society products and inventories sold at discount

Promotion:

- Posters
- Class announcement
- Promotion in Facebook

Preparation

- Promotion begins a week before the Welfare Day
- Design the products
- Ordering the products

Date	Event
Late January	Circulation and polling of designs in class and through internet Design of Society membership card will be ready
Mid February	 Place order for Society T-shirts, Society jacket and Society membership cards
Late February	Promotion of Welfare Day !
Mid March	Collection of society products and membership cards
Early September	 Promotion of Welfare Day II Place order for Society T-shirts, Society Jacket and Society membership cards
Mid September	Collection of society products and membership cards

Prepared by,

(Cheung Chin Ho)

Proposed President

The Society of Earth Sciences, DES, HKU

Session 2012-2013

Financial Budget

The Society of Earth Sciences, DES, HKU Estimated Society Budget of Session 2012-2013

Income and Expenditure

General Affairs	
Membership Fees 1	\$ 4000.00
General Administration Expenses 2	(\$ 175.00)
Functions	
Career Talks 1	(\$ 300.00)
Welfare Day I 2	(\$ 10.00)
Science Festival 3	\$ 0.00
Superpass Dinner I 4	(\$ 679.00)
Dinner Gathering I 5	(\$ 2200.00)
Field Trip 6	(\$ 10.00)
Adventure Day 7	\$ 0.00
Registration Periods 8	(\$ 355.00)
Orientation Day 9	(\$ 500.00)
Orientation Camp 10	\$ 4830.00
Welfare Day II 11	(\$ 10.00)
Superpass Dinner II 12	(\$ 767.00)
Dinner Gathering II 13	(\$ 2200.00)
New Year Ball Game 14	(\$ 155.00)
Others	
New Society Products 1	(\$ 990.00)
Surplus/ (Deficit)	\$ 479.00
Balance b/f	\$ 3331.10
Total Income (Surplus + Balance b/f)	\$ 3810.10
Percentage of total surplus/deficit over total income	12.57%

Notes to the account	Budget	
	Sub-total	Total
General Affairs		
1) Membership Fees		
Income		
One-year membership fees (0 people; each \$ 25.	0.00 \$ 0.00	
Three-year membership fees (40 people; each \$ 6	50.00) \$ 2400.00	
Four-year membership fees (20 people; each \$ 80	0.00) \$ 1600.00	
Inco	me – expenditure =	\$ 4000.00
2) General Administration Expenses		
Expenditure		
Name Cards for the Executive Committee (300 co	pies; each	
\$ 0.17)	\$ 50.00	
Membership Cards (300 copies; each \$ 0.17)	\$ 50.00	
Printing expense	\$ 50.00	
Book for keeping financial record	\$ 25.00	\$ 175.00
Inco	me – expenditure =	(\$ 175.00)
<u>Functions</u>		
1) Career talks		
<u>Income</u>		
	\$ 0.00	\$ 0.00
<u>Expenditure</u>		
Refreshment	\$ 300.00	\$ 300.00
Inco	me – expenditure =	(\$ 300.00)
2) Welfare Day I		
Income		
	\$ 0.00	\$ 0.00
Expenditure		
A4 Posters	\$ 10.00	\$ 10.00
	20,000,000	4 M 1 M 1 M 1 M 1 M 1 M 1 M 1 M 1 M 1 M
Inco	me – expenditure =	(\$ 10.00)

3) Science Festival		
Income	*	
Subsidies from Science Society, HKUSU	\$ 450.00	\$ 450.00
Expenditure		
Bulletin Boards	\$ 300.00	
Decoration	\$ 150.00	\$ 450.00
	Income - expenditure =	\$ 0.00
4) Superpass Dinner I		
Income		
Fees (30 people; each \$ 50.00)	\$ 1500.00	\$ 1500.00
Expenditure		
Dinner cost (30 people; each \$60.00)	\$ 1800.00	
Barbecued pork/Roasted pork	\$ 300.00	
Materials for writing Spring Couplets	\$ 35.00	
\$1.30 red pocket money	\$ 39.00	
Colour-printed posters	\$ 5.00	\$ 2179.00
	Income - expenditure =	(\$ 679.00)
5) Dinner Gathering I		
Income		
Fees (30 people; each \$ 20)	\$ 600.00	\$ 600.00
Expenditure		
Dinner cost (40 people; each \$ 70)	\$ 2800.00	\$ 2800.00
	Income - expenditure =	(\$ 2200.00)
6) Field Trip		
Income		
	\$ 0.00	\$ 0.00
Expenditure	×	
Colour-printed posters	\$10.00	\$ 10.00
	Income – expenditure =	(\$ 10.00)

7) Night walk with Lung Chan		
Income		

	\$ 0.00	\$ 0.00
Expenditure		
NAC 2013 A - 2010	And the	
	\$ 0.00	\$ 0.00
8) Registration periods	ncome – expenditure =	\$ 0.00
Income		
	\$ 0.00	\$ 0.00
Expenditure		
Decoration and posters		
A6 O camp leaflet X 600	\$ 300.00	
Registration Form X 50	\$ 50.00	
	\$ 15.00	\$ 355.00
9) Orientation Day	come – expenditure =	(\$ 355.00)
Income		
meonie		
	\$ 0.00	\$ 0.00
Evnoudla		
<u>Expenditure</u>		
Refreshment (50 people; each \$10.00)	\$ 500.00	\$ 500.00
Inc	ome – expenditure =	(\$ 500.00)
10) Orientation camp		(+ 555,66)
Income		
Fees of Member (30 people; each \$330.00)	\$ 9900.00	
Fees of Helper & OC (20 people; each \$300.00)	\$ 6000.00	
Fees of Ex-co for pre-camp (9 people; each \$ 200	0.00) \$ 1800.00	
Subsidy from Professor Chan LS	\$ 7000.00	\$ 24700.00
	7 . 300.00	\$ 24700.00
Expenditure		
Ex-co Pre-camp	\$ 1800.00	
Accommodation for 50 people	\$ 9000.00	
Fees For meals (excluding BBQ)	\$ 5000.00	
50 people; each \$90.00)	\$ 4500.00	
BBQ packages (50 people: each \$ 28 co)	\$ 4500.00	

\$ 1900.00

\$ 250.00

\$ 620.00

BBQ packages (50 people; each \$ 38.00)

O camp Booklet (50 people; each \$ 5.00)

Game materials

	Luggage transportation	\$ 600.00	
	Camp tees (30 people; each\$40.00)	\$ 1200.00	\$ 19870.00
147	2 2 4 10 10 10 10 10 10 10 10 10 10 10 10 10	Income - expenditure =	\$ 4830.00
	11) Welfare Day II		
1	ncome		
		\$ 0.00	\$ 0.00
E	Expenditure		
	A4 Posters	2429.0	
		\$ 10.00	\$ 10.00
1	2) Superpass dinner II	Income – expenditure =	(\$ 10.00)
	ncome		
-	ees (40 people; each \$ 50.00)		
	ces (40 people; each \$ 50.00)	\$ 2000.00	\$ 2000.00
E	xpenditure		
D	inner cost (40 people; each \$60.00)	A 2400 00	
Ва	arbecued pork/Roasted pork	\$ 2400.00	
	laterials for writing Spring Couplets	\$ 300.00	
\$1	1.30 red pocket money	\$ 10.00	
	plour-printed posters	\$ 52.00	
	P-10.0	\$ 5.00	\$ 2767.00
13	Dinner Gathering II	Income – expenditure =	(\$ 767.00)
m (************************************	come		
Fe	es (30 people; each \$ 20)		
	(= p-sp.e, cach \$ 20)	\$ 600.00	\$ 600.00
Exp	<u>penditure</u>		
Dir	nner (40 people; each \$ 70)	\$ 2800.00	\$ 2800.00
		Income – expenditure =	9.0
14)	New Year Ball Game	meonic expenditure =	(\$ 2200.00)
Inc	<u>ome</u>		
Even	awalla	\$ 0.00	\$ 0.00
	enditure		
	reshment	\$ 150.00	
POS	ters	\$ 5.00	\$ 155.00
		Income - expenditure =	(\$ 155.00)

Others

1) New Society Products

Income		
a. Society tees		
Members (95 people; each \$ 35.00)	\$ 3325.00	
Non-members (5 people; each \$55.00) b. Society jackets	\$ 275.00	\$ 3600.00
Members (35 people; each \$ 90.00)	\$ 3150.00	
Non-members (5 people; each \$110.00) c. Field Books	\$ 550.00	\$ 3700.00
Members (45 people; each \$ 8.00)	\$ 360.00	
Non-members (5 people; each \$ 15.00) d. Hand lenses	\$ 75.00	\$ 435.00
Members (25 people; each \$ 20.00)	\$ 500.00	
Non-members (5 people; each \$ 35.00)	\$ 175.00	\$ 675.00
Expenditure		\$ 8410.00
Society tees cost (100 pieces; each \$ 40.00)	\$ 4000.00	
Society Jackets cost (40 pieces; each \$100.00)	\$ 4000.00	
Field Books cost (50 pieces; each \$ 10.00)	\$ 500.00	
Hand lenses cost (30 pieces; each \$ 30.00)	\$ 900.00	\$ 9400.00
Incor	me – expenditure =	(\$ 990.00)
Total Surplus/ (Deficit)		\$ 479.00

Prepared by

(Li Tsz Ying) Proposed Financial Secretary

The Society of Earth Sciences, DES, HKU

Session 2012-2013

Approved by

(Cheung Chin Ho) Proposed President

The Society of Earth Sciences, DES, HKU

Session 2012-2013